50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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__”nth Sem/ex\ter B.E. Degree Examlnatlon, July/August 2021
. Obj/écl/t Oriented Modelmg and Design

: Max. Marks:100
Note: Answer any FI VE full questions.

Define Object-Orientation. Explain four aspects of Object-Orientation with examples.
(10 Marks)
Explain Generalization with UML diagrams. Also explain uses of generalization. (10 Marks)

Categorize the following "relationships into generalization, aggregation or association.
Assume there may be n-ary association in the list. Explain your answers.

i) A country has a capital city

ii)y  Modems and keyboards are input/output dev1ces

i) A route connects two cities. (06 Marks)
Explain different types of multiple 1nher1tance with examples. (08 Marks)
Explain the following:

1) do-activity

i)  entry-activity. / (06 Marks)
What are nested states? D1scuss aggregation concurrency W1th an example (08 Marks)
Explain include and extend relationships with examples (06 Marks)
Explain types of sequence models with examples - (06 Marks)

What is software development process? Explam different stages of software development

process. (10 Marks)
Explain the steps performed in constructing a domain state model. (10 Marks)
Explain the steps required to construct application class model. | (08 Marks)
Explain the qualities of ‘good class’ libraries. (06 Marks)
What is subsystem? Explain layered architecture. (06 Marks)
Discuss the steps performed‘in designing alg(‘)rithms (08 Marks)
Differentiate between forward and reverse engineering. (06 Marks)
Discuss the dlfferent possibilities in ﬁne tuning of classes. - (06 Marks)
Explain the model-view-controller with a diagram. (10 Marks)
Explain the client-dispatcher-server communication patterns along with its structure and
dynamics. - , (10 Marks)
Explain the structure of command processor pattern. (10 Marks)
Explain the view handler management pattern. T LIBRARY (10 Marks)
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